-
OIL & GAS DEVELOPMENT COMPANY LIMITED

; u ’ (To be completed, filled in, signed
. PROCUREMFl?gI’{E]}EII)vASI;E’rCI\'/[[‘]IEgNT’éSLAMABAD and stamped by the principal)
ANNEXURE ’A’
Material SPARES FOR ARIEL COMPRESSOR FOR SINJHORO PLANT C
. Tender Enquiry No PROC-FC/CB/P&P/SINJ-5082/21
Due Date

Evaluation Criteria FULL

SCHEDULE OF REQUIREMENT

VALVE ’A’ SUCTION. 60RX,PK IP# B-1276L, |ASY COMPRESSOR, GAS  Number
UNIT "ARIEL" OR EQUIVALENT

. R VALVE,DISCHARGE.60RX,PK [P# B-1277L, B-1277-N IASY Number 12

COMPRESSOR, GAS UNIT "ARIEL" OR EQUIVALENT

O-RING, VT. 2-770 OD X .210. MODEL# 3.875" BORE RJ 2200 MAWP Number 72

IP# A-0018,A-18, IASY COMPRESSOR, GAS UNIT "ARIEL" OR

EQUIVALENT

H VALVE, CHECK & POPPET,1/2" [P# A-2370,IASY COMPRESSOR, GAS  Number 2

UNIT "ARIEL" OR EQUIVALENT

& ) GASKET, RET, 16-25/32X15-1/16X32 [P# B-0298, IASY COMPRESSOR,  Number 1

GAS UNIT "ARIEL" OR EQUIVALENT

6 GASKET, COVER TOP, MODEL# JGJ/2 FRAME 3.50 [P# C-0159, IASY Number 4

COMPRESSOR, GAS UNIT "ARIEL" OR EQUIVALENT

7 PUMP, LUBRICATOR. [P# A-1764, |ASY COMPRESSOR, GAS UNIT Number 2

"ARIEL" OR EQUIVALENT

8 RING, COMPRESSION PISTON NPN 3-7/8 RING. MODEL# 3.875"BORE RJ  Number 24

2200 MAWP IP# A-0693,1ASY COMPRESSOR, GAS UNIT "ARIEL" OR

EQUIVALENT

0 RING, COMPRESSION PISTON NPN 5-1/2 RING. [P# A-0237,1ASY Number 24
COMPRESSOR, GAS UNIT "ARIEL" OR EQUIVALENT

10 KIT, PACKING, PISTON ROD 1500, MODEL# 6.000"BORE RJ 1270 MAWP  Number 4
IP# B-0293AK,B-1683-K, IASY COMPRESSOR, GAS UNIT "ARIEL" OR
EQUIVALENT

11 LUBRICATOR, ROLLER CHAIN. [|P# A-2548,IASY COMPRESSOR, GAS Number 1
UNIT "ARIEL" OR EQUIVALENT

12 BEARING, SLEEVE MAIN CONN. ROD. [P# B-0245, IASY Number 8
COMPRESSOR, GAS UNIT "ARIEL" OR EQUIVALENT
13 PLATE, SPRING, SUC./DISCH. [P# A-1084,|ASY COMPRESSOR, GAS ~ Number 176
UNIT "ARIEL" OR EQUIVALENT
14 STL GASKET, 5.938 X 5.625 X 60 [P# A0458,|ASY COMPRESSOR, GAS ~ Number 4
UNIT "ARIEL" OR EQUIVALENT
15 FILTER, OIL. KIT,LUB OIL IP# A-0113,|ASY COMPRESSOR, GAS UNIT  Number 24
"ARIEL" OR EQUIVALENT
16 WEAR BAND, PISTON 5-1/2" RJ. [P# A-2995,IASY COMPRESSOR, GAS Number 4
UNIT "ARIEL" OR EQUIVALENT
17 WEAR BAND, PISTON 3-7/8 RJ. MODEL# 3.875"BORE RJ 2200 MAWP Number 4
IP# A-3156,]ASY COMPRESSOR, GAS UNIT "ARIEL" OR EQUIVALENT
18 ROD,CONNECTING.ASSY FS,JGJ [P# AD-1152,|ASY COMPRESSOR, Number 2
GAS UNIT "ARIEL" OR EQUIVALENT
19 GASKETFF.L. [P# A-5255,IASY COMPRESSOR, GAS UNIT "ARIEL"  Number 1
OR EQUIVALENT 0
20 SHAFT, WORM F.F. [P# A-2360, IASY COMPRESSOR, GAS UNIT Number 2 W
"ARIEL" OR EQUIVALENT
21 GEAR, CAM / WORM. [P# B-1176,|ASY COMPRESSOR, GAS UNIT Number 1 ~n N2
"ARIEL" OR EQUIVALENT “TaarMC = Gecnis |
R2 GUARD ASSY. IP# A-2628-A,lASY COMPRESSOR, GAS UNIT Number 8 Y CY\\E‘?‘\‘a‘“‘Jt Dept. OB+
"ARIEL" OR EQUIVALENT process & Ext: 2732

R3 GUARD ASSY. IP# A-1296-C,|ASY COMPRESSOR, GAS UNIT "ARIEL" Number Péige 1




OIL & GAS DEVELOPMENT COMPANY LIMITED
' PROCUREMENT DEPARTMENT, ISLAMABAD

I
(To be completed, filled in, signed |
and stamped by the principal)

-

FOREIGN SECTION C
ANNEXURE ’A’

Material SPARES FOR ARIEL COMPRESSOR FOR SINJHORO PLANT

Tender Enquiry No PROC-FC/CB/P&P/SINJ-5082/21

Due Date

Evaluation Criteria FULL
OR EQUIVALENT

R4 ROD PACKING IP# B-1684 IASY GAS COMPRESSOR "ARIEL" OR Number 2
EQUIVALENT

25 WASHER,FLAT 5/16 ID PLAIN. |[P# FW0501CA IASY SPARES FOR ARIEL  Number 14
COMPRESSOR MODEL JGJ/2 OR EQUIVALENT

26 SPKT, RLR. CHAIN CSHAFT # 35-24T IP# A-0003IASY SPARES FOR Number 1
ARIEL COMPRESSOR OR EQUIVALENT

27 SLEEVE BRG H/S ROD R.W.J ACFIP# B-2112IASY SPARES FOR ARIEL Number 8
COMPRESSOR OR EQUIVALENT

28 VALVE, CHECK, DOUBLE BALL, SS 1/4T X 1/8P. IP# A—18496 IASSY Number 2
COMPRESSOR, MODEL "JGJ / 4" OR EQUIVALENT

29 GASKET. [P# B-0834,B-0843, IASY COMPRESSOR, GAS "ARIEL" OR ~ Number 2
EQUIVALENT

B0 GASKET. |P# B-0844,|ASY COMPRESSOR, GAS "ARIEL" OR Number 2
EQUIVALENT

B1 HOUSING, BEARING. [P# A-5638,|ASY COMPRESSOR, GAS "ARIEL" Number 1
OR EQUIVALENT

B2 O-RING,VT, 2.637 0.D X .139 [P# A-0010, IASY COMPRESSOR, GAS Number 8
"ARIEL" OR EQUIVALENT

B3 PIN, ROLL. [|P# FP0505CE,FPO50CE, IASY COMPRESSOR, GAS "ARIEL"  Number 4
OR EQUIVALENT

B4 GASKET, STL.MODEL# 3.875" BORE RJ 2200 MAWP  |P# A-0691,IASY Number 2
COMPRESSOR, GAS "ARIEL" OR EQUIVALENT

BS PLATE, THRUST, BZ, JGR, W;J. | P# B-0304 | ASY COMPRESSOR, OFF Number 4
GAS "ARIEL". OR EQUIVALENT

B6 FILTER KIT, LUBRICATOR 150 MIC. MODEL# JGJ/2 FRAME 3.50 IP# A-  Number 2
8723-K, T-150LM |IASSY COMPRESSOR, GAS "ARIEL" OR
EQUIVALENT

B7 OIL SLINGER, JGR W:J/2/4, A/6 |P# B-0248 |ASSY COMPRESSOR, GAS  Number 2
"ARIEL" MODEL 'JGH/4’. OR EQUIVALENT

B8 CRANK ASSY, FS, JGJ/2,3.5"STK, PART # AD-1194 |ASY. COMPRESSOR.  Number 2
OR EQUIVALENT

B9 SIGHT GLASS, 1" NPT, PART # A—0077 IASY. COMPRESSOR. OR Number 1
EQUIVALENT

1o SHAFT SEAL HOUSING, JGR:W:J, PART # C0141 IASY. COMPRESSOR. Number 2
OR EQUIVALENT

A1 CNTR STUD, 5/16-24, PART # A2649, IASY. COMPRESSOR. OR Number 6
EQUIVALENT

U2 RBLD KIT, PIST ROD PKG, 1.500 P# B-293-AK OR EQUIVALENT Number 1

U3 DIST. BLOCK 12S. IP# A-0304,A-304,|ASY COMPRESSOR, GAS UNIT = Number 1
"ARIEL" OR EQUIVALENT

ua4 PIN, CROSSHEAD. |P# B-0332,B-0773, |ASY COMPRESSOR, GAS Number 2
"ARIEL" OR EQUIVALENT

U5 DIS. BLK. 9S*9T-6.  IP# A-0794,A0305, |IASY COMPRESSOR, GAS Number 1
UNIT "ARIEL" OR EQUIVALENT

1o KIT, VLV, 60RX, PKX (P. # KB-1276-L) OR EQUIVALENT Number 4

w7 GASKET, ARL SNGL LUB BOX CVR, 1/32. |P# A2348 | ASY Number
COMPRESSOR, GAS "ARIEL" MODEL 'JGM/2’. OR EQUIVALENT

U8 NYLON INSERT LOCKNUT, 3/8-16 (P.NO FN0460EA) OR EQUIVALENT Number Page 2




OIL & GAS DEVELOPMENT COMPANY LIMITED
| PROCUREMENT DEPARTMENT, ISLAMABAD

(To be completed, filled in, signed
and stamped by the principal)

-

FOREIGN SECTION C .
ANNEXURE ’A’
Material SPARES FOR ARIEL COMPRESSOR FOR SINJHORO PLANT
Tender Enquiry No PROC-FC/CB/P&P/SINJ-5082/21
Due Date
Evaluation Criteria FULL
] DOWEL PIN, 3/16 X 3/4 + 0.0002 (P.NO FPO500EE) OR EQUIVALENT Number 4
50 HSG BRG FF LUBE BOX RH (P. NO A-2361) OR EQUIVALENT Number 3
51 PIPE PLUG 1" NPT, SQ, HD, PLASTIC (P# PP0802KD) OR EQUIVALENT Number 2
52 SELF LOCK NUT 5/16-24, ESNA (P# FN0461DA) OR EQUIVALENT Number 2
53 GASKET RET 13-7/8 X 8-1/8 X 1/32 (P # B-0729) OR EQUIVALENT Number 8
54 O-RING VT, 8.895 OD X .210 (P # A-0033) OR EQUIVALENT Number 4
55 EXPLOSION RELIF VALVE JGR: W (P# B-1566) OR EQUIVALENT Number 2
56 STATE O SEAL, 3/8 " DIA, BLACK (P # FW0550EA) OR EQUIVALENT Number 12
57 UNLOADER PISTON 3-7/8" RU CL (P# B-0611) OR EQUIVALENT Number 2
58 UNLOADER STEM 3-7/8, 4-5/8 RU CL (P# C—0438) AC-3703 UNL PIST Number 1
ASSY 3-7/8R) OR EQUIVALENT
59 UNLOADER PISTON 5-1/2 RU CL (p# B-0394) OR EQUIVALENT Number 2
60 UNLOADER STEM 7-1/2 JGU, 5-1/2 RU CL (P# C-0256) AC-3741 UNL Number 1
PIST ASY 5-1/2R CLASS OR EQUIVALENT
61 STRAIGHT GREASE FITTING 1/4-18 (P# A-0468-03) OR EQUIVALENT Number 4
62 WASHER 3/8 X 1-1/2 OD (P # A-0650-A) OR EQUIVALENT Number 1
63 ROD PACKING 1.5, 2200 STD (P# B-0294-A) OR EQUIVALENT Number 2
64 UNLOADER PISTON ASSEMBLY 5-1/2RU CL (P# AB-0394) OR Number 2
EQUIVALENT
65 ROLL PIN 1/4 X 2" (P# FPO505FK) OR EQUIVALENT Number 8
66 SOC HD CAP 3/8-16 X 1-3/4 (P# FCO110EJ) OR EQUIVALENT Number 16
67 STEM GUARD CAP (P# A-0416) OR EQUIVALENT Number 4
68 VALVE DISCHARGE 60RX, PK P# B—1277-P OR EQUIVALENT Number 16
69 GASKET, STL. 2.750X2.594X30. |P# A-0460,|ASY COMPRESSOR, GAS Number 48
UNIT "ARIEL" OR EQUIVALENT
70 GASKET RND (ROUND) 16 X 1/64, 16 HOLE IP# B-3515IASY SPARES Number 2
FOR ARIEL COMPRESSOR OR EQUIVALENT
71 NUT, SELF LOCK, TYPE: ESNA, 3/8-16,, P# FN-0460-EA | ASSY. ARIEL Number 12
COMPRESSOR OR EQUIVALENT
72 SOC.HD.CAP.3/8-16 X 1-3/4 G8 IP# FC 0110EJ, IASY COMPRESSOR, GAS  Number 16
"ARIEL MODEL JGH/4" OR EQUIVALENT
73 GASKET, RND, 16X1/64. |P# B-0369, |IASY COMPRESSOR, GAS UNIT Number 6
"ARIEL" OR EQUIVALENT — MU= pech-I
74 CYL, ASSY, 3-7/8R:RJ, PART # HD-0800, IASY. COMPRESSOR. OR Number 1 /J\ é‘\-\eg U\v,\-‘\)epx. SR
EQUIVALENT oy plant O
prot L
Note: BID BOND OF USD 2,300/- OR EQUIVALENT PKR MUST BE SUBMITTED WITH TECHNICAL BID.

Page 3




SPARE PARTS OF ARIEL COMPRESSOR

Terms of References

OGDCL Intends to Procure the Spare Parts for Ariel Compressors (Model JG/2 Frame

F-8865 & F-8866)

1.

a.

Original Authority Letter for participation in the bid from M/S Ariel Corporation
must be provided with technical bid.

Bidder must provide the previous purchase order of similar supplies in Oil and
Gas Sectors with in Pakistan/ Middle East.

Bidder must confirm that quoted parts are 100% fit in size and
function/metallurgy for Ariel Compressors model mentioned by OGDCL. The
parts to be provided from OEM.

Bidders quoting Equivalent parts must provide a Certificate from at least three
E&P companies of foreign jurisdiction other than bidders/manufacturers own
country, stating that equivalent (quoted parts) are used by them and
performance of such parts is found satisfactory. Copies of Purchase Orders
(unpriced) must also be provided. The certificate(s) / sale record is mandatory
and due to non-submission thereof, the bid will be rejected.

If bidder found any ambiguity in part nos., it should be cleared prior to bid
opening date.

Parts must be in original OEM Packing.

Parts must be new & free from any defect.

In case a different part number is quoted then supporting documentation from
OEM must be provided.

Parts must have standard OEM warranty/guarantee.

10. Delivery period is 90~120 days from date of issuance of L/C.

11. Bidder should submit the complete compliance of TOR duly signed and stamped.

et
HFM%S’ AL |

\.
f ; Mech.)
Dy. Chief Engry _
plant Dept. 0.G.
Process & cxt; 2739

L



	Page 1
	Page 2
	Page 3
	Page 4

